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A quote ⋄

“In the long-run we are all dead"
J. M. Keynes

“People don’t eat in the long run, they eat every day "
Harry Hopkins

“The stock market has predicted nine of the past five
recessions. "

— Paul Samuelson
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Learning Objectives

In this chapter, you will be able to answer the following
questions:

What are economic fluctuations? What are their
characteristics?
How does the model of aggregate demand and aggregate
supply explain economic fluctuations?
Why does the Aggregate-Demand curve slope downward?
What shifts the AD curve?
Why is Aggregate-Supply curve vertical in the Long run
but upward Slopping in the short run? What shifts the AS
curve(s)?
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Introduction to Business Cycle

Long-run vs Short-run in macroeconomics
Recessions, depressions
Business Cycle
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U.S. Real GDP per person and Major Macro
Events, 1900-2023
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Three Facts about Economic Fluctuations
1. They are irregular and unpredictable
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Three Facts about Economic Fluctuations
2. Most macroeconomic quantities fluctuate together.
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Three Facts about Economic Fluctuations
3. When output falls, unemployment rises
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Review

Recall from the previous chapters:
We explained the behavior of the economy in the long run
output determined by supply or production side– it was
assumed that there is always demand for what is produced-
called sometimes “Say’s Law” in economics

“Supply creates its own demand"
Jean-Baptiste Say
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The Workhorse
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Aggregate Demand (AD) Curve

AD curve is . . .
Why AD is downward slopping? not because of the Law of
demand but:

1. The wealth effect (P and C)
2. The interest rate effect (P and I & C)
3. The exchange rate effect (P and NX)
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Shift Factors of AD Curve
AD increases (shifts to the right) when:

1. C increases due to:
Stock market boom
Preferences for consumption over saving
Tax cuts

2. I increases due to:
Investment increase caused by optimism of firms or home
buyers
Interest rate decrease due to monetary policy
Investment Tax Credit (or other tax incentives on
investment)
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Shift Factors of AD Curve, cont’d

3. G increases due to:
Increase in federal spending, e.g., defense

Increase in state & local spending, e.g., roads, schools

4. NX increases due to:
Booms in countries that buy our exports

Depreciation of currency caused by non-price level
changes (e.g., speculation in foreign exchange markets)
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ACTIVE LEARNING

Identify whether each event shifts the curve to the right/left or
does it just result along the AD curve

a. A ten-year-old investment tax credit expires.
b. The U.S. exchange rate falls.
c. A fall in prices increases the real value of consumers’

wealth.
d. State governments replace their sales taxes with new taxes

on interest, dividends, and capital gains.
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The Aggregate-Supply Curve (AS)

- The AS curve
shows the total quantity
of G&S firms produce and
sell at any given price level.
AS is:
- upward-sloping in short run
- vertical in long run
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Long-run aggregate Supply (LRAS)

What does LRAS represent
Why LRAS is vertical at YN

Shift factors of LRAS: Anything that increases
L, K , H , A, N (Recall the chapter on Econ growth)

Recall that these factors are in turn affected by public
policy such as prompting or hindering free trade (tariffs,
etc)
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Using AD and LRAS to depict Economic Growth
and P Changes in the U.S. ⋄

Case1: Suppose there is Economic growth due to increased
productivity since 1990, what happens to Y and P, if govt does
nothing to shift AD
Case2: What about if AD shifts more than proportionately to
LRAS shift?
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Short-run Aggregate-Supply (SRAS)

SRAS represents . . .
Why the SRAS is upward slopping?
In the short run, Y deviates from YN when P deviates
from Pe:

Y = YN + a · (P − Pe)

Three theories: the Sticky-Wage Theory, the Sticky-Price
Theory (menu cost) & the Misperceptions Theory
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Why the SRAS is upward slopping
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Shift factors of SRAS Curve

Any event that affects the profitability of firms- other than the
price level- shifts the SRAS. The SRAS increases (shifts to the
right) when there is:

Any factor that shifts LRAS also shift SRAS in the same
direction: recall increase in productivity in previous slides
(K , H , N and A)
decrease in expected price (nominal wages)
decrease in ‘commodity or input’ prices (e.g., oil):
increase in labor force (due to high birth rates or
immigration)
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The Long-Run Equilibrium
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Four steps to analyzing economic fluctuations

Economic Fluctuations are caused by events (shocks) that
shift the AD and/or AS curves.

Four steps to analyzing economic fluctuations:
1. Determine whether the event shifts AD or AS.
2. Determine whether the curve shifts left or right.
3. Use AD-SRAS diagram to determine how the shift changes

Y and P in the short run.
4. Use AD-SRAS-LRAS diagram to determine how economy

moves from new SR eq’m to new LR eq’m
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The Effects of a Shift in AD: Recessionary &
inflationary gaps
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Two Big AD Shifts:
First one: The Great Depression of 1930s and Great Recession of 2008
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Two Big AD Shifts:
Second one: The World War II Boom
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ACITVE LEARNING : Working with the
AD-AS model

Draw the AD-SRAS-LRAS diagram for the U.S. economy
starting in a long-run equilibrium.
A boom occurs in China. Use your diagram to determine
the SR and LR effects on U.S. GDP, the price level, and
unemployment.
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Effect of a Shift in SRAS:

Oil price increase
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Stabilization Policies: Fiscal and Monetary Policies
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The 1970s Oil Shocks and Their Effects
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John Maynard Keynes, 1883–1946 ⋄

In The General Theory of Employment, Interest,
and Money, 1936”, Keynes argued recessions and
depressions can result from inadequate demand; and
hence policymakers should shift AD to remedy them.

Famous critique of classical theory: ""The long run
is a misleading guide to current affairs. In the long
run, we are all dead. Economists set themselves too
easy, too useless a task if in tempestuous seasons
they can only tell us when the storm is long past,
the ocean will be flat.""
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Case Study 1: The Great Recession of 2008–2009

Large contractionary shift in AD
Real GDP fell sharply: By 4.2% between the fourth
quarter of 2007 and the second quarter of 2009

Employment fell sharply: Unemployment rate rose from
4.4% in May 2007 to 10.0% in October 2009

The housing market played a central role in this recession.
What was govt response?
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Case Study 2: The Covid Recession of 2020
Three unusual features of downturns in economies around the
world:

1. The cause: the Covid-19 pandemic (large segments of the
economy closed)

2. Speed and depth:
February - April 2020, employment fell from 61.1% to
51.3% (the largest two-month drop ever)
Unemployment rate in April 2020: 14.8%

3. In a sense, it was intentional: recession by design
Given the circumstances, a large, temporary decline in
economic activity was arguably the best possible outcome

Which curves shifted and What was govt response?
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CONCLUDING REMARKS ⋄

In the previous chapters, we concluded that when people
save it is good thing; this is because we assumed that
saving automatically goes to investment which in turn
increases the physical capital stock and output.
In this chapter, however, increased saving is not good
thing as there is no guarantee that it will be converted to
investment. In fact, this decreases consumption and AD
curve shift to the left and output decreases
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CONCLUDING REMARKS ⋄

Finally, it is vital to remember that investment is part of
AD and not AS in the shortrun
Thus, when firms make investment spending, this shifts
AD, not AS
In the long run, of course, this increased investment will
augment the physical capital stock and increase both
SRAS and LRAS. In this chapter, however, this long run
effects are ignored as our purpose is to explain short run
fluctuations and not long run economic growth
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SUMMARY

This chapter has introduced the model of aggregate
demand and aggregate supply, which helps explain
economic fluctuations.
Keep in mind: these fluctuations are deviations from the
long-run trends explained by the models we learned in
previous chapters.
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Using AD-AS Model ⋄

The current situation of the U.S. economy is characterized by
prices and wages rising, real GDP back to pre-pandemic level,
and labor shortages everywhere. Based on this information, is
the economy producing at less than or more than the natural
(full employment) level of output? Why do you think so? If so,
is this the ideal situation we would like to be? What is the
appropriate macroeconomic policy for the Fed (U.S. central
bank) to take to stabilize the economy? Show the current
situation in the AD-AS diagram and then analyze how policy
moves the economy to the ideal situation using the aggregate
demand and aggregate supply model.
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More Exercises 1: ⋄

Explain whether the following events affect U.S. AD curve or
SRAS curve and how.

a. The government increases Temporary Assistance to Needy
Families (TANF) payments, government transfers to
families with dependent children.

b. Government increases the minimum wage
c. To reduce the budget deficit, the government announces

that households will pay much higher taxes beginning next
year.

d. Due to currency speculations, the Euro depreciates by 25%
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More Exercises 2: Working with the model of
AD-AS ⋄

A. Draw the AD-SRAS-LRAS diagram for the U.S. economy
starting in a long-run equilibrium.
B. Due to currency speculations, the Euro depreciates by 25%.
Use your diagram to determine the SR and LR effects on U.S.
GDP, the price level, and unemployment if the government does
nothing.
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Discussion Activity: Macroeconomics of Covid-19
Shock ⋄

1. Which curve(s) must have shifted due to Covid-19 and to
which direction? why?

2. Graph the shift. What happens to output and the price
level in the short-run?

3. With the government giving out $2 trillion worth of
transfers to households (focus on households), which curve
shifts to which direction? Why ?

4. What is the impact of the shift in (3) on
output/employment and prices in the short-run?
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